0=(5+x)/T £8 = €T — 49—

Z+0

— s4a8aju| — suonenb3 days-om| ay3 anjos _

_ s1adaju| - suonenby days-om) ay) ELVLIN _

'8103§ iWeN juapnis

21005 :3Wep juapnis




“What do you call a crate of mallard ducks?”

Solve for x. The answer to each problem will match a letter that will allow you to figure out the joke.

.3X+2=26 L1
. 4x-5=35
.2x+3=13
. —TX-7 =49

. 10-6x = 46

x N O Oom =z X ®m »

.2x-1=-9

. =/ - 9x = -61

. 23 =7-15x

10. 14x + 6 =6

11. 1-8x=7

L.
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F
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u.

12. 16 = -3x + 1

Joke #16 Solving Equations: ax+b=c Form (answers are integers)




